Social Policy and sociology. 
Peter Worsley – a social problem is a piece of social behaviour that causes public friction and/or private misery and calls for collective action to solve it, e.g. poverty, educational underachievement, divorce. A sociological problem is any pattern of relationship that calls for explanation. Key difference with social problems is that sociological problems that they include behaviours that society doesn’t think are problems e.g. why are some people prosperous and part of the r/c.
Factors affecting whether sociological research succeeds in influencing policy = electoral popularity [research findings and recommendations might be unpopular with voters], interest groups [pressure groups that seek to influence gov in their own interests e.g., avoiding regulating H and E policies harshly], globalisation [social policy made by international organisations such as EU and may influence social policies of individual gov], cost [gov may not have sufficient funds to implement an appropriate policy]
Positivism and functionalism – Positivists = Comte and Durkheim took view that sociology was a a science and discover both cause of social problems and the solutions to them, their approach was part of the Enlightenment project to use science and reason to improve life, functionalists = see society as based on value consensus, see state as serving interests of society as a whole, producing and implementing rational social policies or the good of all, policies help society run more smoothly e.g. educational policies seen as promoting equal opportunity and social integration, housing policies assist in family in performing its functions more effectively, functionalists – favour social policies that are referred to as piecemeal social engineering, favour cautious approach, tackling on issue at a time. AO2 – Marxists argue that educational policies aimed at equalising opportunity for children of different classes are often defeated by other factors e.g. poverty, need to change basic structure of society in order to solve these specific problems
Social democratic perspective – favours major redistribution of wealth and income rich to poor, Townsend – sociologists should be involved in researching social problems and making policy recommendations to eradicate them [e.g. findings on poverty, made recommendations for polices such as higher, fairer benefit levels, more public spending on health] Black Report [class inequalities, made a number of far-reaching policy recommendations for reducing deep rooted inequalities, included free-school meals for all children, improved working conditions etc.] – stopped by Conservative government on grounds of cost and even tried to restrict its publication. AO2 – Marxists reject idea that social policies can solve the problem, capitalism is actually responsible for inequalities, capitalist state unlikely to increase public spending if it doesn’t benefit them, postmodernist = it’s impossible to discover objective truth, all knowledge produce by research is uncertain, sociologists can only take role of interpreters and not role of lawmakers. 
Marxism – see society as divided by fundamental conflict of interest in which r/c exploit the labour of the w/c, state and policies serve interests of capitalism, provide ideological legitimation to mask capitalist exploitation, e.g. welfare state gives capitalism appear to care about the young, sick and old, they maintain the labour force for further exploitation e.g. NHS serves capitalism by keeping workers fit enough of work, they’re a means of preventing revolution e.g. Marxist sees policies that created the welfare states after WW2 as a way of buying off w/c opposition to capitalism. Marxists – recognise that social polices do provide benefits but these are threatened with reversal by capitalism’s tendency to go into periodic crises of profitability leading cuts in welfare spending, research that reveals unpleasant truth e.g. black report will not be used to create new policies, only solution is to overthrow capitalism. Marxists = sociologists role should be to criticise capitalist social policy, must reveal how exploitation underpins social policy AO2 – views are impractical and unrealistic, social democrats criticise them for rejecting view that research can bring about progressive policies. 
FEMINISM – society’s fundamental conflict is between genders, society is patriarchal, state reinforces women’s subordination through social policies, fam polices based on assumption that normal family is conventional nuclear family w/ heterosexual married couple e.g. maternity leave assumes mother is primary caregiver, feminist research = influenced educational policies, learning materials [promote more positive images of females], teacher training [sensitise teachers to the need to avoid gender bias and promote inclusiveness for both sexes] many policies reflect lib fem view, rad fem influences domestic violence polices – concept of separatism works for female domestic violence sufferers. AO2 – gradual change in policies not enough. 
[bookmark: _GoBack]NR  - state should have minimal involvement in society, sociologist role is provide alternative social policies that aim to restore individual responsibility, lack of social responsibility results in greater social problems e.g. delinquency and more crime rates. Murray – generous welfare state acts perverse incentives that undermines families self-reliance and encourages dependency culture and underclass of lone mothers, lone mothers ineffective agent of socialisation, divorce policies lead to result of lone mothers AO2 – NR policies often contribute to higher crime rates bc of zero tolerance policies, lead to more poverty and exclusion of marginalised groups, Studies have challenged the link between absent fathers and delinquency so validity is questioned

